
B

FIGURE A

DETAIL B

1

2

3

4

1.- TURN THE SOFA UPSIDE DOWN ON A CLEAN AND FLAT SURFACE.
2.- PLACE 4 WOOD DOWELS IN EACH LEG.
3.- ALIGN EACH CORNER WITH THE DOWELS HOLES ANS PRESS INTO PLACES.
4.- PLACE A FLAT WASHER ON EACH SCREW AND ALIGN THEM IN THE HOLES ON EACH LEG.
5- THIGHTEN THE SCREWS UNTIL THE LEG FEELS FIRM.
6- ONCE THE LEGS ARE INSTALLED, MOVE THE SOFA BACK TO ITS ORIGINAL POSITION.

ITEM # DESCRIPTION #
1 LEGS 4
2 BUTTOM SOCKET SCREW 5/16" x 3 1/2" 4
3 FLAT WASHER 5/16" 4
4 WOODEN DOWELS 8 x 30 mm 16
5 ALLEN KEY 1/4" 1

12345

I-IUP-298

ASSEMBLING INSTRUCTIONS



IUP298-ACH

IUP298-LOV

IUP298-SOF

IUP298-CSE-LF

IUP298-LOV-RT

IUP298-ALC

IUP298-OTT

ITEM DESCRIPTION #
1TOR106 TORNILLO ALLEN CAB. BOLA 5/16" x 3 -1/2" NEGRO 4

1RON003 RONDANA PLANA 5/16" x 1" GALV 4

1PER001 PERNO DE MADERA 8 x 30 16

1HER383 LLAVE ALLEN 1/4 (MUEBLE) 1

ITEM DESCRIPTION #
1TOR106 TORNILLO ALLEN CAB. BOLA 5/16" x 3 -1/2" NEGRO 4

1RON003 RONDANA PLANA 5/16" x 1" GALV 4

1PER001 PERNO DE MADERA 8 x 30 16

1HER383 LLAVE ALLEN 1/4 (MUEBLE) 1

ITEM DESCRIPTION #
1TOR106 TORNILLO ALLEN CAB. BOLA 5/16" x 3 -1/2" NEGRO 4

1RON003 RONDANA PLANA 5/16" x 1" GALV 4

1PER001 PERNO DE MADERA 8 x 30 16

1HER383 LLAVE ALLEN 1/4 (MUEBLE) 1

ITEM DESCRIPTION #
1TOR106 TORNILLO ALLEN CAB. BOLA 5/16" x 3 -1/2" NEGRO 4

1RON003 RONDANA PLANA 5/16" x 1" GALV 4

1PER001 PERNO DE MADERA 8 x 30 16

1HER383 LLAVE ALLEN 1/4 (MUEBLE) 1

ITEM DESCRIPTION #
1TOR106 TORNILLO ALLEN CAB. BOLA 5/16" x 3 -1/2" NEGRO 4

1RON003 RONDANA PLANA 5/16" x 1" GALV 4

1PER001 PERNO DE MADERA 8 x 30 16

1HER383 LLAVE ALLEN 1/4 (MUEBLE) 1

ITEM DESCRIPTION #
1TOR106 TORNILLO ALLEN CAB. BOLA 5/16" x 3 -1/2" NEGRO 4

1RON003 RONDANA PLANA 5/16" x 1" GALV 4

1PER001 PERNO DE MADERA 8 x 30 16

1HER383 LLAVE ALLEN 1/4 (MUEBLE) 1

ITEM DESCRIPTION #
1TOR106 TORNILLO ALLEN CAB. BOLA 5/16" x 

3 -1/2" NEGRO 4

1RON003 RONDANA PLANA 5/16" x 1" GALV 4

1PER001 PERNO DE MADERA 8 x 30 16

1HER383 LLAVE ALLEN 1/4 (MUEBLE) 1

12345

I-IUP-298

ASSEMBLING INSTRUCTIONS
IUP298-ACH
IUP298-LOV
IUP298-SOF

IUP298-CSE-LF
IUP298-LOV-RT
IUP298-ALC

IUP298-OTT


	Hoja1
	Drawing View1
	Vista de detalle B (1 : 8)

	Hoja2

